EAGRAROBREERT — 2 N— ABISH —F

2019511 A8H (&) 9mIEFI5H

Kl crnzersezpREay c2 Y55

‘ [R1%] & ‘ [REBB] — | & (&) 14000 B

[A~&£] 1 7% :1,000,000  ~ 23 :350,000 37 :200,000H" ~ 43 :150,000 @ 5 7 :100,000 M

& %B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
Ny REME :30. -4-4- . - FLEAS (GEF)
1 o H—z s 5 i 1(3_0)2 4-4-4-2 | 39.4 1 (4_652) Mﬁﬁ
L:xF1=Ty7—X BZFRIILFIL KEHS
. .o ft 3 | WSt 1:30.7 1-1-1-1 | 40.2| — 2 406 | EARE (1)
2K 3| F-vE/X10 54.0 ©1/2) Cin | (B) 7497 k=722
Zox14o B4 T74AEMS 7' ¥
B o7 | EHEER 1:31.0 5-5-5-6 | 40.0| — 10 | 497 |EOZE GEF)
318111 3'737!:')_1'7 56.0ﬁ (11/2) (-4) AiEHEZ
LA TFAT BHFNTAHART AE —H
= B4 | BIEED 1:31.2 9-11-11-10 [ 39.2 | — 5 498 | TREEETT (AN
4155 77/7)|/—)|/ 54.0 (1 1/2) (+1) ﬁ#ﬁé—
L:ANTz—JI B:23I-2 AL
== j_ 4 8 | REIBIHEE 1:31.6 2-2-2-4 | 41.0| — 9 481 | BEEET (GE)
5/5|6|7777+7 56.0 @ (-2 | BRI
R:T7oBRAT4 9754 B8y Fa—/ e
= o 7 | BEL 1:31.7 —8-8— 40. = 467 | BH—BI (#)
6179|717y Ty~ & £82.0 (1/2) MR e ’ (+62) IXIflE (5)
LHIRT1 TR B:T4T7vTTrER Slizte]
5 S Anl 4 3 | BHB 1:31.8 3-3-3-3 | 41.1| — 4 445 | tEZE (1)
717110/ 77X 70y ¥ LA 54.0 (7€) (-3) | RARAIR
R:d—IWKk7Uz1—I)b B:FzVU-—TOvHL EBGHE
83 8 4 4 | RITHRR 1:31.9 11-9-10-11 | 40.1 | — 8 464 | KEFESE (HF)
Eﬂ 4| V¥ AKI-t 54.0 (1/2) s | RE=
R:iT—9T4—R BRAXHHFT—X PPN ¢
I jt 3 | RiitgR 1:31.9 10-10-9-8 | 40.1 | — 6 492 | EH—BI GER)
9|8[12| TT¥>74—2 54.0 N o |EIaE
R:T7—IT4=Z B:IAI NF FERS
N . FEBA :31. —6-6— . = EBNIE (aFn)
10 g | PXTEA LR i 7 5 1(7311:? 6-6-6-5 | 40.7 7 21_419) e
R:TSATLX84 L B:5TVYXTS NS
= S it 4 | SEEF 1:32.4 7-7-7-7 | 40.9| — 11 445 | BAE—B (@)
1Ml | b7 XIVE=X 54.0 21/2) (+16) SATILE—TI14X (%)
a4 % v MY BTV TIVAA— b bl vae]
= o i T : -12-12- — NAAZ (1)
1 eV H 3 pon (15('??'#5) 12-12-12-12| 42.9 12 (5_03 e
ZW—2RYL K B:F77U—X—L4A BNILB%ES
® I —F—@EBIERL
13=7"= 3,6,10,2,11,8,1,9,5,12,4,7
23—+ — 3,6,10,2,11,8,1,9,4,12,5,7
Gal=7r= 3,6,10,2,11,8,1,9,12,4,5,7
43— — 3,2,10,6,8,11,1,12,9,5,4,7
[ RN
B OB 2 140M 714K 2-3 190H e & 2-3 480M 3ER 2-3-11 6,870
% B 2 1104 2-11 760 | | # B 2-3 640/ | | SEE 2-3-11 12,440
3 160/ 3-11 2,810/ B E 2-3 420
1 690M B H 2= 570M

ARICOVWTRDTEEERROODE. TR LI,




